—_—
n
V|7
111 0
405 fU Ny
FRAME WIDTH |
4 Q13
ly:_’ e 36—" N 1 » O = g %
8 g =z e
DOOR OPNG. WIDTH = w ell<
<2 gllz
. @ 11 3" g S 3
1» 3" X w ~
r2z | . —I oC. I |1 [wmax. oz %
] ] @ o £
............. 3528 T 2 OLF «
........ 4 o g ~
-\ 'SASH WIDTH'.".".". =) Oz o
............ O le) we o
‘;E-K 10112(03 ........... o OEEE{ g
o) SN || v OQuBE Y
3 _L e [ o ) <E;: %
....... 0N T D NIco u N0
|| . 137 &y - T Eus®
O ............ \ PR < Z N — d
] - MM \ .. — [TTRES | E =
= N = -
I 1 e ] :
% m |'5i'4_‘I7_ ....... \ % f:\ .
= = s I - Il . g
[ % ............. E % E O g
. < M- /. 1o b 72 Z g
\—%w f/) ................ // © . fn 2 gi
S | R | AR N A 1 [C-
4 J_""""‘im/ ...... —t mé §Z~ =
. N1 B j':/ ...... I ~ =N ‘I_
.‘_>< ............... ; :—é d X =
S| A -3 HISE
...... S m|__| 3
T A0 BTN - glo -Re
AN TRV FRUATARTATAT o ||[<C ww s,
> A . Z|e=nh20
MAX S IO E:)Q:‘_|%
[ S 1 | PRI FE PR 11 o)} E = Ia) < 8 |
DOORS ARE NOT RATED FOR IMPACT. ' I i i a1 SIZ,Z88
INSTALLATION OF THIS PRODUCT IN THE HVHZ AREA DOES REQUIRE @ - 5 § = ggvz
THE USE OF APPROVED SHUTTERS OR EXTERNAL PROTECTION DEVICES |——MAX ——| ~ MAX IS 5>‘-‘E£
COMPLYING WITH HVHZ REQUIREMENTS. ’ : = j Fokr
INSTALLATION OF THIS SYSTEM OUTSIDE THE HVHZ AREA SHALL MEET o E w?gé
THE APPLICABLE REQUIREMENTS FOR WIND BORNE DEBRIS PROTECTION. = = -
| —
"TELSTAR OUTSWING SINGLE STEEL DOORS ( X ) M)
"TELSTAR/TIOGA /SPARTAN” OQUTSWING STEEL DOORS
Pd = +50.0 PSF (EXTERIOR)
APPROVAL APPLIES TO SINGLE (X) LEAF DOORS WITHOUT SIDELITES.
) —50.0 PSF (INTERIOR)
DOORS NOT APPROVED FOR INSTALLATIONS WHERE WATER INFILTRATION c
RESISTANCE IS REQUIRED. =
o
THIS PRODUCT HAS BEEN DESIGNED AND TESTED TO COMPLY WITH THE NOTE: 3
REQUIREMENTS OF THE FLORIDA BUILDING CODE INCLUDING HIGH VELOCITY : ©
HURRICANE ZONE (HVHZ). EGRESS REQUIREMENTS TO BE REVIEWED BY AHJ. B
WOOD BUCKS BY OTHERS, MUST BE ANCHORED PROPERLY TO TRANSFER A— THIS PRODUCT EVALUATION DOCUMENT (P.E.D.) PREPARED BY THIS ENGINEER 2 °
LOADS TO THE STRUCTURE. IS GENERIC AND DOES NOT PROVIDE INFORMATION FOR A SITE SPECIFIC S ..6
PROJECT; i.e. WHERE THE SITE CONDITIONS DEVIATE FROM THE P.E.D. @ 5]
ANCHORS SHALL BE AS LISTED, SPACED AS SHOWN ON DETAILS, ANCHORS B— CONTRACTOR TO BE RESPONSIBLE FOR THE SELECTION, PURCHASE AND alle
EMBEDMENT TO BASE MATERIAL SHALL BE BEYOND WALL DRESSING OR STUCCO. INSTALLATION OF THIS PRODUCT BASED ON THIS PRODUCT EVALUATION FL #17900 e J
PROVIDED HE/SHE DOES NOT DEVIATE FROM THE CONDITIONS DETAILED cCC— " " DO
ANCHORING OR LOADING CONDITIONS NOT SHOWN IN THESE DETAILS ARE ON THIS DOCUMENT. .
NOT PART OF THIS APPROVAL. C— THIS PRODUCT EVALUATION DOCUMENT WILL BE CONSIDERED INVALID IF n ?
ALTERED BY ANY MEANS. J, ‘H
A LOAD DURATION INCREASE IS USED IN DESIGN OF ANCHORS INTO WOOD ONLY. D— SITE SPECIFIC PROJECTS SHALL BE PREPARED BY A FLORIDA REGIS(TERED) R 3
ENGINEER OR ARCHITECT WHICH WILL BECOME THE ENGINEER OF RECORD (E.O.R. © o
ALL SHIMS TO BE HIGH IMPACT, NON—METALLIC AND NON—COMPRESSIBLE. TR THE PROJECT AND WHO Wil BE REePONSIBLE FOR. THE PRODER I " B
MATERIALS INCLUDING BUT NOT LIMITED TO STEEL/METAL SCREWS, THAT USE OF THE P.E.D. ENGINEER OF RECORD, ACTING AS A DELEGATED 5|3 £
COME INTO CONTACT WITH OTHER DISSIMILAR MATERIALS SHALL MEET THE N e e —or ENCHEER SHALL SUBMIT TO THIS LATTER THE SITE hd °
REQUIREMENTS OF THE FLORIDA BUILDING CODE. : —2
E— THIS P.E.D. SHALL BEAR THE DATE AND ORIGINAL SEAL AND SIGNATURE OF drowmg no.
MANUFACTURER’S LABEL SHALL BE LOCATED ON A READILY VISIBLE LOCATION THE PROFESSIONAL ENGINEER OF RECORD THAT PREPARED IT. 15-35
IN ACCORDANCE WITH SECTION 1710.8.3 OF FLORIDA BUILDING CODE. -
LABELING TO COMPLY WITH SECTION 1710.8.2. Shect T of O

\Y|




(Se—G1/vAOdddV 14

)

o

3
e

8.69-29¢ (S0€) "Xv4

00T8-+9<¢ (S0€) 3L

Y.TEE VAIHOTA ‘INVIN
JAV L8 "M\'S GECT
AININJOTIAIA 10NA0Hd @ SHIINIONI

NOILVHOdH0O OO0HVH-1V

* 066C—G29—-L1L—1

pallly
ONI

" L¥OY—££H—008—1 33¥4 TI0L
€¥SLL VINVATASNNGA
© AANYA QYVHOIA 81

ONIMNLOVANNYA 1131

£G2¢—0Lg—888—1 Xvd

T.zlzm:mﬁ S400Q T33LS SO .

uonduosep [Aq

310p

ou

NVLAVdS/¥90LL/NISTAL ) )¢

:SuoIsSInGl)

sheet 2 of 9

\Y|

1H9IAH Hsvs 8c6

«9¢

XV

Jog

«¥C

6"
MAX.

1 8"
MAX.

RS R AR
N R N
r o A NG Ll
E = CE % SN
IS - B W NS | Q[N
= © g 0Ta el ”./”..”.”. ,
o NS 8¢ L T
S . o . o
s Y AR —— — Sy
7®u AR T — __f 2N
| | | |
T _ _ _ T
kN m _ «7C _N_‘lv
Hm “«
00
ok
hek

1HOIFH "ONdO d00d

:@@
1HOIFH 3JNVHA

.86

1HOIAH Hsvs .2g6

:mN

:@N

_ «OF

6 ”
MAX.

541
FRAME WIDTH
494"
DOOR OPNG. WIDTH

Lano o
(SASH WIDTH™ = - 1

&

11

1 8"
MAX.

]

7 _|
28

Wbl

e

1HOIFH "ONdO d00d

:@@

IHOIFH 3IAVYS

236

X))

—50.0 PSF (INTERIOR)

Pd = +50.0 PSF (EXTERIOR)

"TIOGA/SPARTAN” OUTSWING SINGLE STEEL DOORS

X))

+75.0 PSF (EXTERIOR)
—75.0 PSF (INTERIOR)

Pd

"TIOGA/SPARTAN” OUTSWING SINGLE STEEL DOORS

FL #17900

0:.ZU

5

Jul 1o ZU1L




SECTION A—-A

SECTION B-B

WOOD
— A R L
£&
&
| T
SEAL
ITEM 07
5
g ;58
o u £
< 0 e My I ;
(3) #10x1}”
HWH SDS
4 /
LS Ca .q:. el
o R “a
- o 2 i<

\\CONCRETE

MASONRY

ROUGH OPENING

05

SECTION C—

FRAME OVERALL WIDTH

C SECTION D-D

TYPICAL ANCHORS AT HEAD/JAMB/SILL:

#8 DIA. SMS
INTO 2BY WOOD BUCKS OR WOOD STRUCTURES
1—1/2" MIN. PENETRATION INTO WOOD

3/16” DIA. ITW TAPCON (Fu=125 KSI, Fy=100 KSI)
INTO 2BY WOOD BUCKS OR WOOD STRUCTURES

DIRECTLY INTO fc’=3000 PSI CONCRETE, 1” MIN. EDGE DIST.
1" MIN. EMBED INTO CONCRETE (HEAD/JAMBS/SILL)

3/16” DIA. ELCO ULTRACON (Fu=177 KSl, Fy=155 KSl)
INTO 2BY WOOD BUCKS OR WOOD STRUCTURES
1—1/2" MIN. PENETRATION INTO WOOD

DIRECTLY INTO fc’=3000 PSI CONCRETE, 1" MIN. EDGE DIST.
DIRECTLY INTO fc’=2000 PSI MASONRY BLOCK, 1” MIN. EDGE DIST.
1-3/8" MIN. EMBED INTO CONCRETE (HEAD/JAMBS/SILL)

1—1/4" MIN. EMBED INTO GROUT FILLED BLOCK (JAMBS)

TELSTAR SERIES SINGLE STEEL DOOR SYSTEM

WOOD
SUBSTRATE

FL #17900

f

FL APPROVAL/1 5—35)

a

FAX. (305) 262-6978

AL-FAROOQ CORPORATION

ENGINEERS & PRODUCT DEVELOPMENT

1235 S.W. 87 AVE
MIAMI, FLORIDA 33174

TEL. (305) 264-8100

(

|

INC.

TELL MANUFACTURING,
LITITZ,
1-717-625-2990 .

18 RICHARD DRIVE .
TOLL FREE: 1-800-433—-4047 .
FAX: 1-888—370—3253

PENNSYLVANIA 17543

["TELSTAR/TIOGA/SPARTAN" 0S STEEL DOORS SYSTEM—N.I.]

)
by [ description

nol| date

|

(revisions:

date\- 6-29-15
chk. by:

———— — >
S
drawing no.

15—-35
(Shest 3 of 9 )

\Y|




—_—
n
wV |
m 0
—3
@ 5, 0|
Or 82
& 3=
<z g
x S o~
O )
oz %
ITEMNo. | PART NUMBER | DESCRIPTION MATERIAL QY. o o £
=
01 MMD20102 | DHM 3068 20GA 161 DB - 1 8 9 N
b
02 MMD30302 | TELSTAR DOOR FRAME HEADER/JAMBS 2.76” x 4.75” x 0.054” THK. 16GA GALVANNEAL STEEL 1 o 8 wh o
x> <]
03 MMD10202 | THRESHOLD 0.53" x 4.80” x 0.152" THK. 36" TP 6063-T5 ALUMINUM 1 Quzgd
I~ =
DETAIL A 04 MMD40103 | FLASHING STRIP 36” TP - 1 8 5 ®E §
@7
05 HG100034 | HINGE 4—1/2" x 4—1/2" GALVANNEAL STEEL 3 < u i o
- O
E 06 MMD10203 | DOOR SWEEP 0.61” x 1.35” x 0.083” THK. TP 35.75" 6063—T6 ALUMINUM 1 "_I'.' 535 3
! <
\& 07 MD100120 | WEATHER STRIP LP1153 (16") GALVANNEAL STEEL 2 <g8s B
08 - 8300 SERIES HEAVY DUTY COMMERCIAL GRADE 1 RIM PANIC W/ KEYED ESCUTCHEON TRIM STAINLESS STEEL 1 r_\:“—’
/ 09 - KEYED LOCK - 1 EI °
o : (2]
| /%) 010 SD100093 | 13—1/2" x 13—1/2” L-FRA100 STEEL LOW PROFILE LIGHT KIT BY NATIONAL GUARD PRODUCTS | STEEL 1 & % Y
1 7] |
v 011 MSD10006 | 2 PART ADHESIVE, REZ—CURE EP882 BY INNOVATIVE RASIN SYSTEM, INC. EPOXY RASIN 2 o ||— 2
MSD10033 ol - .
S||O =
_ 012 - STRIKE PLATE - 1 gz . &
— N -
@ 013 MSD41065 | BOTTOM DOOR SKIN 0.40” x 1.72” x .034” THK. GALVANNEAL STEEL - = % =
= -
E- 014 MSD41065 | TOP DOOR SKIN 0.18” x 0.24” x .035" THK. GALVANNEAL STEEL - o=~ mg‘
015 MMD10205 | TOP CAP 0.70” x 1.54” x .038” THK. GALVANNEAL STEEL - Ny 2 Ll &*):':
A = L > N9
016 MSD10223 | DOOR CHANNEL 0.80” x 1.67” x .053” THK. GALVANNEAL STEEL - é S -78
()] (=3
@ 017 MMD10043 | DOOR CLOSER REINFORCEMENT 7.00” x 19.50” x 0.070” THK. (15GA) STEEL SHEET GALVANNEAL STEEL 2 @ <ZE a %@g
<C L]
018 MSD10005 |FOAM CORE 44.00” x 91.00” x 1.688” THK. — 0.733 LB/FT> DENSITY POLYSTYRENE FOAM 1 Sl= %% S
t = T ui 00
019 MSD10027 | HINGE REINFORCEMENT 1.25” x 10.00” x 0.180” THK. COLD ROLLED STEEL - é 0 %g‘?
ezt
020 MSD10091 | CYLINDRICAL LOCK REINFORCEMENT 1.65” x 6.69” x 3.80” x 0.054” THK. COLD ROLLED STEEL 2 g 0 o Ej:'g'
o
021 - DUST COVER 0.61” x 1.35"x 0.083" THK. 6063—T6 ALUMINUM - EllE—arFt
——>
022 - #8 x 3/4” PHILLIPS WAFER PAN HEAD SELF DRILLING SCREWS STEEL 8 M
023 - 3/16”¢ ITW BUILDEX TAPCON OR ELCO ULTRACON ANCHORS STEEL 23
C
DETAL B 2
o
—
(6]
7))
()
O
>
10
y
i ” S '8
DR 3068 PRO DB RHR W/ 10" X 10 OW s
>
FL #17900 L) )
c— — )
P-4
n =
— [e]
| I
[} (7]
N
S|l 2 .
) 2
] = R
g 5
c——————— >
S
TELSTAR SERIES SINGLE STEEL DOOR SYSTEM ene e
sheet 4 of 9

\Y|



:{’““

=164

A @ + '7 / 1 1 0:75'
375"J $.203" 5
MMD60101 PIERCED BLANK s
=—1.250"
[ ]
AT =4 II 1
875’
|
2.750°
47!
— L- E,-
2,000° J
et
—=t 625" L=t GGD'-—J—f\ 125" *

MMD40101 FORMED CHANNEL

TELSTAR HEADER

J

S
0
BE [:|
S

1

10625

T

I3 74" =250

N
]

f=—5.485"

683"

~—s.005"

T —=L1.g80" =

3980 —
Nosi2r

MMDE0102 PIERCED FLAT BLANK

TELSTAR LOCK JAMB

=—2.953"—= =—1.250"
—={1.403 r T i
/ I
45
f f
1,000 /
i
4 ZOJ-JE 2.687"
375"
4750
1 |
2.063
R.050
I e .41« 27
625 ,oon“Lw,wzs“»
750"
FORMED CHANNEL SECTION
2790"- 130"
80.654 | \

750"

FORMED CHANNEL SECTION

1.682"

.
B0.654" 3 PLACES

TYP.
3 PLACES

298"
- T,

3 PLACES

]

10625
™.

8115

135"

1

|1 NG
J L ~fs.172"
34"
274" 5485

6.831"—=

L9581~

MMDB0100 FLAT BLANK

0.18" —U—

0.318"— I—

l—1.28" —

HINGE REINFORCEMENT

DOOR AND FRAME
7 GA

TELSTAR SERIES SINGLE STEEL DOOR

I>——s060”

—7500"

1.625"—=—
150"

-
5| |

[ Sa
™. M7
——t 625" *1.000'#1 125" «

750"

MMD50101 FORMED CHANNEL

CHANNEL SECTION

TELSTAR HINGE JAMB

TELSTAR THRESHOLD

MMD10202 (6063-T5 ALUM. ALLOY)

SYSTEM

FL #17900

PN

f

FL APPROVAL/1 5—35)

a

FAX. (305) 262-6978

AL-FAROOQ CORPORATION

ENGINEERS & PRODUCT DEVELOPMENT

1235 S.W. 87 AVE
MIAMI, FLORIDA 33174

TEL. (305) 264-8100

(

|

INC.

LITITZ,
1-717-625-2990 .

1-800—-433—-4047 .

1—888—370—3253

TELL MANUFACTURING,
18 RICHARD DRIVE .
PENNSYLVANIA 17543

TOLL FREE:

FAX:

["TELSTAR/TIOGA/SPARTAN" 0S STEEL DOORS SYSTEM—N.I.]

)
by [description

(revisions:
(ho[ date

AS SHOWN |:

date\- 6—29—15
scale:
chk. by:

S
drawing no.

15—-35

—

sheet 5 of 9

Jut16 2015622

\Y|




\Y|

(c£—S1/IvAO¥ddV 14 N[~ . £525-0/5 9881 XV3 - .
. = . = 066C—GC9—LLL—| " LyOb—CCH—008—1 :33Y¥4 1101 m Te)
U 8269-¢9¢ (50€) "XV4 00T8-+v9C Amwmv 131 S¥S/ 1 VINVATASNNIM S %5
..h ESw%oMoﬁm__w_M_k ‘ZLLN © 3ANYA QYVHOIM 81 o | |lo
INIINJOTIAIA LONAO0Hd 2 SHIANIODN3 QZ_ OZ_W_Dn_.Q<h_DZ<_\/_ I_I_m|_| ToNAI5Sap 4G 5155 o0 .M w ..Mm
e NOILVYHOdHO0D ODO0HV4-1V T.z-zu@a $¥00d T33LS SO =Z<E<n_m\<8_§&9i ( “mco_msew SL-62-9 e < <
=
O O
O o
o OO0, ®
—
=
—
[
© T
3 5
=
O
Ll
N | g
N m =
2 =
O Lol
H e —
_\ % %) 2
V|
— n 2
~ e
o
& @)
_ =
_ <
<R = _1
z
®) (|
N Lol
% —
o) w
+ Lo
1
&)
© =
| wn
< [©)
S _ W
_ o Ll
= e
O o
v 2 0
wn
=
O] @ — _Aln
[ve) o~
N <C
\ o
0 w
3
aE Oo0° / | 3
2 o O o N —
N
[ B |
o | =
& o
Lol e
u B
~ : < S
=
L
L 0
I i L
=S
< —
[nd
S
- B 0
u \ /J L
N -
_ W\E = g i 3 —|
<
pd
o
T
O
Ll
N
n n
- 3
z Tx
= - O
© =
% S =z
O O
ok
Ll
>

022

5

Jul 1o ZU1L




—_—
A ITEM No.[PART_NUMBER[ DESCRIPTION MATERIAL QrY. “U $
25 or 26 1 MSD72232 [HEADER FRAME 2.67” x 0.059” THK. 16GA GALVANNEAL STEEL | 1 m 0
7747 T0 1/2” BOLT WITH LOCKING NUT. 2 MSD72232 [ JAMB FRAME 2.67” x 0.059” THK. 16GA _ GALVANNEAL STEEL | 1 N
/47 TO 1727 BOLT WITH TOCKING N. W 3 DT101126 | THRESHOLD 0.50” x 5.75” x 0.105” THK. 48" TP 6063—T5 ALUMINUM | 1 _Z ks
ENGAGEMENT BEYOND NUT. OR 4 MSD10027 |HINGE REINFORCEMENT 1.25” x 10.00” x 0.180” THK. COLD ROLLED STEEL 8 S =S
#12 OR LARGER DRILLING SCREW. 5 MSD10290 |BOTTOM DOOR SKIN 0.40” x 1.72” x .034” THK. GALVANNEAL STEEL | 1 O AL
41 CREWS MUST BE MINIMUM 3 THREADS S L 6 MSD10290 | TOP_DOOR SKI’I,\I 0.18 X 0.24 X .035” THK. GALVANNEAL STEEL 1 - g o<
N\ ENGAGEMENT BEYOND CHANNEL/GIRT. 7 MMD10205 | TOP_CAP 0.70” x 1.54” x .038" THK. GALVANNEAL STEEL 1 < & ~z2
N 8 MSD10223 [DOOR CHANNEL 0.80” x 1.67” x .053” THK. GALVANNEAL STEEL | 2 @ S 9
» 9 MSD10091 | CYLINDRICAL LOCK REINFORCEMENT 1.65” x 6.69” x 3.80” x 0.54” THK. 16GA COLD ROLLED STEEL| 1 @) m e
ﬁ N 10 | MSD70048 [FRAME CLIP 5.54” x 1.45" x 1.43” x 0.097” THK. 12GA SPOT WELDED TO JAMBS GALVANNEAL STEEL | 2 Qg %
Lo RN 11 MSD10005 | FOAM CORE 44.00" x 91.00” x 1.688” THK. — 0.733 LB/FT> DENSITY POLYSTYRENE FOAM | 1 14 a w
12 | MMD10043 [DOOR CLOSER REINFORCEMENT 7.00” x 19.50” x 0.070” THK. (15GA) STEEL SHEET GALVANNEAL STEEL | 2 0 o X
13| MSD10068 | MORTISE LOCK REINFORCEMENT 5.00” x 1.50" x 11.93” x 0.067" THK. 15GA COLD ROLLED STEEL] 1 O3 o
14 | MSD72232 | KD STRIKE JAMB 4080 MB534 FRAME 2.67" x 0.059” THK. 16GA GALVANNEAL STEEL | 1 Qfuomg
15 - #8 x 17 SELF DRILLING SCREWS (NOT SUPPLIED) STEEL 6 OQaxg
,E 16 - HINGE / STRIKE JAMB FLOOR BASE ANGLE CLIP 12GA GALVANNEAL STEEL | 2 O35F
q N, 17 DT100631 | WEATHER STRIP_LP1153 (18) - 1 xg.9&
18 \ 18| HG100034 |HINGE 4—1/2" x 4—1/2° GALVANNEAL STEEL | 4 < u 2T 5
o4 19 - MORTISE LOCK HARDWARE OPTION, CL102258 ZHONGSHAN - 1 Lz o 58
SEE NOTE 2 20 - LC1281 SERIES HEAVY DUTY COMMERCIAL GRADE 1 LEVERSET W/ CL100249 BY THASE ENTERPRISES CO. LTD |— 1 g0 5
. \ EACH SIDE 21 | MMD10203 [DOOR SWEEP 0.61” x 1.35” x 0.083" THK. TP 35.75” 6063—T6 ALUMINUM | 1 Loas ¥
: 22 - JAMB EXTENSION ASSEMBLY 16GA CHANNEL, 12GA CLIP GALVANNEAL STEEL | 4 ———
/ 23 = 3/8"8 T0 1/2°8 x 2—1/4" DYNABOLT STUD ANCHOR FOR CONCRETE - 4 = '
24 - #12 x 1” SELF DRILLING SCREW (NOT SUPPLIED) STEEL 24 20, o
Q@ \55\ 25 - 1/4°¢ 10 1/2°¢ x 3/4” HEX BOLT STEEL 12 =llo e
< ’ NS 26 - 1/4°¢ TO 1/2°¢ HEX NUT SELF LOCKING STEEL TO MATCH ITEM 25 STEEL 12 %= 1
3 )X 27 - #10 x 1” SELF DRILLING SCREW (NOT SUPPLIED) STEEL 6 23 b
. |1 28 - STRIKE PLATE — TO MATCH HARDWARE OPTION AS SPECIFIED - 1 o - g
\@ 29 - #12 — 24 x 3/8” PHILLIPS FLAT HEAD COUNTERSUNK MACHINE SCREW STEEL, FOR HINGES | STEEL 32 =3 % S
30 = 3/16"8 x 1—3/4 PHILLIPS FLAT HEAD COUNTERSUNK TAPCON CONCRETE SCREW (NOT SUPPLIED)| STEEL 5 SlEN &L
/'o 31 - 9500 SERIES HEAVY DUTY COMMERCIAL GRADE 1 RIM_PANIC W/ KEYED ESCUTCHEON TRIM - 1 HIEE .
% 32 - 5/16”¢ 10 1/2"6 x 1—3/4" HEX WASHER HEAD TAPCON CONCRETE SCREW (NOT SUPPLIED) | STEEL 4 » E 305
. 24 33 | MSD10061 | HINGE REINFORCEMENT COVER 1.66” x 0.84” x 10.13” x 0.024” THK. COLD ROLLED STEEL| 4 Blo 2%
SEE NOTE 2 » 34 | MSD10090 [STRIKE PLATE REINFORCEMENT 1.38” x 6.50” x 1.13” x 0.059” THK. 16GA COLD ROLLED STEEL| 1 L 1< W,
EACH SIDE. ® 35 | MSD10006 |2 PART ADHESIVE, REZ—CURE EP882 BY INNOVATIVE RASIN SYSTEM, INC. EPOXY RESIN 2 =|="2y
\ MSD10033 ZI28 &%
36 | DT100852 | BUTTERFLY ANCHOR 1.58” x 2.50” x 7.00” x 0.048” THK. COLD ROLLED STEEL| 4 7} <ZE az%8
37 | SD100081 [ ANCHOR 0.95” x 2.05” x 7.00" x 0.052" THK. COLD ROLLED STEEL| 4 3= %%T&;
14 38 - 1/4” x 3/4” HEX HEAD MACHINE BOLTS (HH MB) AND LOCK NUTS THRU FRAME CLIPS STEEL 2 Ell  55us
_\ A 39 - #8 x 3 1/2” NAILS STEEL 8 ldz2EL
40 - 3/8” x 6" WOOD LAG BOLT STEEL 4 2 | o0 & 3%
41 | SD101546 [ 25” x 31" WHITE IG INSULATED GLASS UNIT LITE KIT BY NATIONAL GUARD PRODUCTS STEEL 1 Ejlm—aFE
cC— >
L—16 FRAME TO METAL BUILDING INSTALIATION DETAILS M
, SPOT_ WELDED NOTES:
B & TO FRAME
1) FOR ANCHORING KNOCK DOWN FRAME HEAD JAMB TO FRAME HINGE JAMB AND FRAME STRIKE JAMB
INTERIOR 16GA. (.053" MIN.) STEEL FRAMING USE (2 PER SIDE) 1/4" TO 1/2” DIAMETER STEEL BOLT WITH
MATING SELF LOCKING NUT. BOLT TO BE OF SUFFICIENT LENGTH TO ACHIEVE 3—THREADS MINIMUM
23 OR 32 25, 26 BEYOND NUT. LOCATE AND ANCHOR AS SHOWN IN CORNER CONSTRUCTION DETAIL. c
\ SEE NOTE 3 SEE NOTE 1 2) FOR ANCHORING JAMB EXTENSION ASSEMBLY TO 16GA. (.053" MIN.) STEEL FRAMING HINGE AND STRIKE S
JAMBS, USE (4 PER CHANNEL) #12 OR LARGER DRILLING SCREWS OF SUFFICIENT LENGTH TO ACHIEVE &
3-THREADS MINIMUM BEYOND ANCHOR CHANNELS. LOCATE AND ANCHOR AS SHOWN IN JAMB EXTENSION ]
EXTERIOR \ ASSEMBLY DETAIL. o
3) FOR ANCHORING FLOOR BASE ANGLE OF FRAME HINGE AND STRIKE JAMBS ONTO CONCRETE USE (2 >
FLOOR BASE ANGLE DETAIL EXTERIOR ' ~10 : PER JAMB) 3/8” TO 1/2” DIAMETER WEDGE BOLTS OF SUFFICIENT LENGTH TO ACHIEVE 2” MINIMU(M 5
CLIP IS EMBEDMENT INTO CONCRETE WITH 4 1/2" MINIMUM EDGE DISTANCE OR (2 PER SIDE) 5/16" T0 1/2" sl
. SPOT DIAMETER HEX WASHER HEAD TAPCON SCREWS OF SUFFICIENT LENGTH TO ACHIEVE 1-3/4” MINIMUM |
WELDED EMBEDMENT INTO CONCRETE WITH 3-3/16" MINIMUM EDGE DISTANCE (ADD WASHER IF NEEDED). LOCATE @[
19, 20, 31 R TO FRAME AND ANCHOR AS SHOWN IN FLOOR BASE ANGLE DETALL. FL 3lc
CYLINDRICAL LOCK . . #17900 (& J
SHOWN < < 4) FOR ANCHORING THRESHOLD ONTO CONCRETE USE 3/16” DIAMETER FLAT HEAD TAPCON SCREWS WITH ¢ 5
. CORNER CONSTRUCTION DETAIL Eggglc[l)ngTA ,\Il_gEGTH TO ACHIEVE A 1-3/4" MINIMUM EMBEDMENT INTO CONCRETE WITH 2-5/8" MINIMUM =z
/ LOCATE ANCHORS AS SHOWN IN ELEVATIONS AND INSTALLATION DETALS. 1l 2
24 L 5o 5) INSTALLATION ANCHORS AND HARDWARE SHALL BE INSTALLED IN ACCORDANCE WITH MANUFACTURER’S T 2
SEE NOTE 2 P INSTALLATION INSTRUCTIONS AND SHALL NOT BE USED IN SUBSTRATES WITH STRENGTHS LESS THAN THE © 5
MINIMUM STRENGTH SPECIFIED BELOW: s || & >
\ A. STEEL FRAMING: 16GA. (.053" MIN.) 58 2
N B. CONCRETE: MINIMUM COMPRESSIVE STRENGTH 3,192 PSI. —
EXTERIOR INTERIOR drawing no.
A/ TIOGA/SPARTAN SERIES SINGLE STEEL DOOR SYSTEM 15_35
JAMB EXTENSION ASSEMBLY DETAIL (sheet 7 of 9

\Y|



—_—
10 PROJECTION U 3
PROJECTION 10 WELDED (4) PLACES MIN. k |
s 7 0of| e (4) puacts wi. m s
B S— °c°Q° N
Rk | I . 1™
s
2 Z 213
4 O 8||&
_ =5 Sls
= u o<
g 2 Y
4 d s\ @ ] Xs 2l
od &
EACH END m a é
. . /] o &
ok ‘ 2.096 531 o5 N
i | B =)
T 2B Sk 8’ gune
A - ; [
1 dl 71 7 14 1.806 0“523
N N » -H ©
7.013 S A 1 TER
34 < w>L g
16-GAGE FORMED STEEL N [ % N o
® STRIKE REINF. PROJECTION 4 888 1 =19 E (\2
,,,/Z L WELDED (2) PLACES FACH END : - O M <
_ _ N =
e . C.| 1 3 CE RN
AW AW S
—— >
T % I = :
I =
» | . =
1.806" 02 e " =lo 8
17 | A (= N
212 4
LAl 17 &= 8
T4 9 7 1. « !
SECTION AV-AV é (D E
LQ.QS” 5317 ~2.125" SIEN I
'_
5.75” EISE
5|2 3 L
- i allFT " md
SECTION N-N o o SECTION AW-AW SO -« ¥
I<—: s 3
(DX Imn
A0 SlZzo=gs
|| =8¢
>||<C o I
3 eI
g(= < 38
48" SINGLE £ ) > o
96" DOUBLE ||l d20x)
4 » S|lDxezt-
B 2| o533
\ FllF—arFg
_ G
c——
o | N M
1.3/4 °° 5.75"
WIDTH VARIES TO MATCH FRAME WIDTH. 105" = -
— WIDTH FOR 8 1/4 FRAME SHOWN.
10, 16 » H f .
12 GA |—— 3 —-| | o o C
» o
TR -0 = 0] _|2s °0° N, S
o O =
‘\ “ } oo 10 6063 ALUMINUM 5
2]
16 GA 1.3/4 o o | o
oCo 2
21 1/2 o o
JAMB HEAD JAMB CLIP L L d %
poy [ b=
18 Of[o
21O
22 P
< ° FL #17900 22 )
/ o O )
0 NIE
21/64 — o
/ it I 1
N
HINGE REINFORCEMENT 12
" L DOOR_AND FRAME B %
|—— 8 ——| 2 3/8 L || 2 2
7 GA <] o =
WIDTH VARIES TO MATCH FRAME WIDTH. o J| @ 6
WIDTH FOR 8 1/4 FRAME SHOWN. >
. .
drawing no.
JAMB_ EXTENSION ASSEMBLY TIOGA/SPARTAN SERIES SINGLE STEEL DOOR SYSTEM 15_35
sheet 8 of 9

\Y|



5 3/4”

1,

2, 14

s o

|
2 1/8 | 4

| 2 1/8

WIDTH VARIES FROM 4 7/8" TO 12 1/4".

5 3/4" FRAME SHOWN.

JAMB PROFILE

0.105

G
\753/4

;
PR, 1/2
CT

6063 ALUMINUM

THRESHOLD (0.105” THICKNESS)

4

HINGE REINFORCEMENT(4)

|-

| CEY: .

IKEX|

|EX|

IKEX|

x

e

|—

s

1

11/16

—‘1 35/64E

20GA
TOP CAP

— |~ 27/64

T
1 45/64
{
18GA

BOTTOM DOOR_SKIN

9

"\"'l\ SPOT WELD, EACH SIDE, EACH CHANNEL.

LOCK REINFORCEMENT
— MIN. 2 RESISTANCE
OR PROJECTION
WELDS EACH END

2" MAX. / 3/4"
£

5 ‘ “’—7/32

1 7/8 | 1
H ) 23( 52 T F 1 50/4
—‘1 43/64 21 1

16GA
DOOR CHANNEL

DOOR SWEEP

3/4

-

» ﬂ%{
Cl 9 16]—
5/16" U /

17

JAMB WEATHERSTRIPPING

18GA
TOP DOOR SKIN

MIN

f

W

— 11

FOAM CORE.

DENSITY: 0.733 LB/FT?

O

Or

ADHESIVE APPLIED IN CROSSED

PATTERN PRIOR TO SPREADING.

— REZ CURE EP882 PART A & B
APPLY PER UL SPEC.

l—2-1/2" MAX. / 1—1/4" MIN.

6257

1.562"

1.375”

1.562"

1.375

4.875" 4.875"
051" —l=— 051" —={f=—
1.938” 1.938”
WIDTH VARIES FROM 4 7/8" TO 12 1/4". WIDTH VARIES FROM 4 7/8" TO 12 1/4".
4 7/8" FRAME SHOWN. 4 7/8" FRAME SHOWN.
DRYWALL FRAME MASONRY FRAME

=" WIRE
MASONRY
ANCHOR

ANCHOR EXPANDS
TO AT WIDER
JAMBS

NOTE: WIRE ANCHORS LAY

NOTE: COMBINATION ANCHORS
USED AS A STEEL
STUD ANCHOR

5-3/4" JAMB WIDTH ONLY
REMOVE NAILING STRAPS

INSIDE BREAK—OFF
CREASE = 2-1/2" STUD

OUTSIDE BREAK—-OFF
CREASE = 3-5/8" STUD

HORIZONTALLY,
LODGED BETWEEN
THE RABBEL AND
THE BACKBEND

WIRE ANCHOR

COMBINED ANCHOR

AT EVERY BLOCK CELL I
MASONRY CONSTRUCTION
Do \ .

PIPE AND STRAP ANCHOR
WELDED TO FRAME

NOTE: 3/8" HOLE IS PROVIDED THROUGH FRAME
STOP WITH EITHER A COUNTERSINK OR
DIMPLE TO RECEIVE ANCHOR BOLTS.

PIPE AND STRAP ANCHOR

DOOR LEAF

BOTH SIDES

ASSEMBLY N

AT 24" 0.C. MAX.

—/

!

WELD 1-1/2" FROM EDGE, SPACED 3" APART.

MAX. 2" / MIN 3/4"T

EXISTING MASONRY CONSTRUCTION
BUTTERFLY ANCHOR

AT 24" 0.C. MAX.

TIOGA/SPARTAN SERIES SINGLE STEEL DOOR SYSTEM

AT 24" 0.C. MAX.

PUNCH & DIMPLE ANCHORING

FL #17900

dote\- 6—29-15

{7
G

FL APPROVAL/15-35)

&l

AL-FAROOQ CORPORATION
FAX. (305) 282-8878

ENGINEERS & PRODUCT DEVELOPMENT

1235 S.W. 87 AVE
MIAMI, FLORIDA 33174

TEL. (308) 284-8100

(

|

1-717—-625-2990 .

LITITZ,

[nTELSTAR/ﬂOGA/SPARTAN" 0S STEEL DOORS SYSTEM-N.L
TELL MANUFACTURING, INC.
18 RICHARD DRIVE .

PENNSYLVANIA 17543
TOLL FREE: 1-800—433-4047 .
FAX: 1-888-370-3253

)
by [ description )

no[ date

{(rev's'ons;
s
L

scale: AS SHOWN

chk. by:

———
drawing no.

15—-35
(Sheet 9 of 9)

\Y|




